# Division (International) with a Helper Grid Name:

Solve each problem. Answers
) 366 : 9 = 2 328 : 4 =
1.
2.
3.
4,
5.
6.
3 241 : 7 = 4 532 /5 =
5 777 : 7 = ) 723 : 5 =
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 366 : 9 =040r6 2) 328 : 4 =082
1 40r6
-0 -0
36 32
.36 -13|2 2 82
08
06 3. 34r3
-0 -8
6 0 . 10612
5 111
6. 1443
3 241 : 7 =034r3 4 532 : 5 =106r2
-0 -5
2 4 03
.21 -0
31 32
-l2/8 -130
3 2
5 777 : 7 =111 6) 723 : 5 =144r3
_7 _5
07 22
-7 120
07 23
-7 -2l0
0 3
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